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03. EASHA Sd=t

05. EASHA =t

06.

07. hiz,y)=2z+3y—6)°+ V22 +3y—6; {(x, y) | 22+ 3y > 6}
08. {(z, y)l2*+4* =1}

09. {(z, y)l2?+¢* >4}

10. {(z, g, 2) 22+ 2+ 22 < 1}

11. {(z, y) | (z, y) = (0, 0)}
12. 0

13. -1
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0. f,(1,2)=—8=0C9 71&7]. f,(1,2)=—4= %] 7]&7];

02. f,(z,t)=—me "sinmz, f,(x, t)=—e ' cosnt

03. f,(z, y)=1/y. f,(a, y)=—a/y’

. (ad—be)y _
04. fz(xv y)* (Cl“f’dy)Q’ fy($a y)

(be—ad)x
(cx + dy)2

05. F,(z, y) = cos ("), F,(z, y) == cos (e’)
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=1/ (e 2y +32), To=2/(z+2y+32), 2o=3/(x+2y+
06 . [(x+2y+32) 2 [(x+2y+32) e 3/(x+2y+3z2)
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10. £, (x, y)=y* — 322y, fy (2, y)=2zy—x*
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@ f'(z), g'(y)
b fx+y), fa+y)
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23.

fox = 6zy° + 2427y, foy = 15z%y" + 82° = fowr foy = 202°y°

zII

=— 233/(1+a72)2, Zyy = 0= Zyys Zyy = 2y/(1 +y2)2

4.3 A 3 3 a3, 2 4.2
u=xy —y" = Uy =427y, Uy = 1227y u, =32y

wetA] ey = Uyeol,
(22%y%2° + 6zyz® + 22) e

Be"’ (2sin0+6 cosO+r6 sinb)
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10.4 HEHdt A9 LA
0l. z2=—T7z—6y+5

02. z+y+2=0

03. 6z +4y—23

04. 1—my
3 2 6

06. dm =5p'¢*dp+3p° ¢ dg

07. dR = (* cosyda~+2af cosvdB— af*sinyd~y
08. Az=0.9225, dz=0.9

09. 5.4cm?

10. ¢F 16cm?




10.5 A4 3=

01. (2z+y) cost+ (2y+x)e’
02. e¥/* 2t— (z/2)— (2zy/2%)]
03. 0z/0s = 2xy® cost+ 3x’y* sint, 0z/0t =— 2sxy” sint+ 3sz’y”* cost

0z . t .
—=¢" s cos — —=——— sinb
ot s2+ 1

0 .
04, SZ=¢r tcos@—; sin9)7
9s $*+ 12

05. 1582, 3164, —700

06. 27, — 27
T _ 2

07. 327 3z

08 Yz Tz

Cef—ay ef—uay

09.

(a) 6m?/s

(b) 10m?/s

(¢) Om/s

10. =-0.27L/s

11.

(@) az/or=(8z/0x) cosO+ (9z/ay) sinb, 0z/90 =— (8z/8x)r sin@+ (8z/ay)r cos b
(b) A=k

12. A

13. Ag=F
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02. =33 (2, 1)=-38, A 0.0)
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AR (m, w)
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f(5m/3, 57/3) =—3/3/2,

A7}
= RN A

f(x/3,7/3)=3+/3/2,

0, £2)=4, F& r(1,0)=—1
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£(3,0)=83, H£ f(1.1)=0
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0L {(z,y)ly>—x—1}
‘\ y
—l\\ r X
_‘l\ Y
y=—x— I\‘\
02.
2
03. 3
3 2
04. F, = %Ha In (@ +6%), Fy= 22‘“ 52
a“+f ! a”+
\/E uv
05. S, = arctan (vvw), S, = =, So =" 2
14 v’w 2vw (14 v’w)
07. f;];;]; — k(k/’f 1).’[1k72y12m7 f;,;y — klxk*lyl*lzm — ny
fmz _ kmxk:— 1ylz'm -1 _ fzxv fyy — l(l* 1)zkyl— 2Zm’
fyz — lmxkyl_ 1Zm -1 _ fzy’ fzz — m(m_ l)xkylzm -2
08. Ag=F




09.
(@) z=8z+4y+1
r—1_y+2_ =z—1

(b) S 1 —
10.
(@ z+2y+52=0
o ytl_ =z
b) z—2 5 3
11. 60x+%y+ %2*120; 38.656

12. 2zy* (1 +6p) + 322y (pe? + )+ 42° (p cosp +sinp)

13. A=k
14, AJ=f
15. 2|Sigk f(1,2) =4, 2430 f(2,4)=—064

16. (£37 14, 37142, +314), (£37 14, —37 V12, £3/)

17. a= 2\/§_3P, b=3_6\/§P, c=(2—3)P




